
3.2.
���������	��

�����
�������


�������������������

(266.◦40500,−28.◦93617)  �!�"$# 2 %� �&�'�(*) z + �-,/.��
φ = 266.◦40500,y + �$,0.1� θ = 28.◦93617

�
2�3  ��4 )*5 x +�6 

�7�8�:9�;�<:=�> 6�? �
"�@BADCE#F( � ( ��GIH @�JK �K
��*L���MDN 6FO�P�Q8R�S�5�S*#7T �VU WX4 )*5 x + � PV?.ZY  ψ = 58.◦59866

283 (IRK[ H�\��V] (_^ 
*������` 6
&a'bT H " =�> 6�? � QcR�S�"�# 
�
����`B��d�e�fDg�hjiD9-kblVmFn$oBN  *p
? <�>�� (42)
9rq�s�U (�R �

(e′

x,e
′

y,e
′

z)=(ex,ey,ez)









cosφ −sinφ 0

sinφ cosφ 0

0 0 1

















cosθ 0 sinθ

0 1 0

−sinθ 0 cosθ

















1 0 0

0 cosψ −sinψ

0 sinψ cosψ









.(47)

t ������u�v��Bw C U 5B"�#
(ex,ey,ez)=(e′

x,e
′

y,e
′

z)









1 0 0

0 cosψ sinψ

0 −sinψ cosψ

















cosθ 0 −sinθ

0 1 0

sinθ 0 cosθ

















cosφ sinφ 0

−sinφ cosφ 0

0 0 1









.(48)

= (e′

x,e
′

y,e
′

z)









−0.0548755 −0.873437 −0.483835

0.49411 −0.44483 0.746982

−0.867666 −0.198076 0.455984









. (49)

w QcR �r�*�
���  ��xBy�f�g:hji�� 3 z�{ 9 (x,y,z),

������  � z�{ 9 (x′,y′,z′)

> (K) >N��
(32)

w|.E�








x′

y′

z′









=









−0.0548755 −0.873437 −0.483835

0.49411 −0.44483 0.746982

−0.867666 −0.198076 0.455984

















x

y

z









(50)

6 ���������
�_��
������
�����*��9r}�~ "I#�*���j�a� 6 (281.◦000, −4.◦070)
�B>INI�8xFyIf�gBh�i��

(0.19033,−0.97915,−0.0709752)9-�8��U��a� ( �1
*�*�*��UK� J�" x�y�f:g:h�i���� (0.879122,0.476581,−0.00355986)
> 5�"8#=�H��	�8�

tan−1

(

0.476581

0.879122

)

= 28.◦463

tan−1

(

−0.00355986√
0.8791222 + 0.4765812

)

= −0.◦204

> 5 .���] (-S 
����$
�� 6�� �ZH )*#
4. �F�-�
���-�*�
4.1. �����*� ���*��>����a�*�I���� U���< "8���
�a� ���*��9K���7�K���I�|9I� QrR-p�? <:=�> 6� N "�#I :¡�¢a£�¤¥�¦
§|� ¢�£����� ��� ) >c~*\B� X ¨ ��© �*� W ! <a�:Yª��W«<�¬ ^ Y­����® ¨ �
© ��� W !�¯.ZY�UF° (IR �
�-±
²�³ +�6
�a� � +Z + � �a� �I´Fµ�¶
·a¸�¹�iB� +Y + ��xBy
9ay S-R�S

11



R �����
xBy ( �����a6 y S-RFS�" x�y )
�

+Z + xBy  �!�"�# Z + 9 � �
	���� X + 9
� {�� �
Y + 98��� =90◦ 6
�*� �������*�  ��G�=V�	� ZYZ

����U�2I3 T��
R�S�Q$) 3
o��a�7�K�a�

�  � �*� �$�a�79 &*' < "�#� {�5�� ¶��|9 �7"�)�� � +Y + ������U�´�µ
�IxBy�9*y SKR
S�"��! *6�!F" 11 ##"
% Uw QrR ��´Fµ*�%$�����9'&�( ( � +Z + x�y
9
����< " �  �'���*)��,+ l�h ���I´FµD>.- 90◦9 5 <�/10K�*U 5 ^ R � 5 � 5
S =�> 6�? � "�#�P$) �
$��������
	2� (North Ecliptic Pole;

NEP)
>�3��

(South Ecliptic Pole; SEP)
���5456D�
���!798  B!�" =�> 6�? � "�#

4.2.
����:<;��%=�> >����a�*�I�
��� �I�������r� > �?�5� (VR�S
" =5>��*°�@��,/�A  
!
"r# ZYZ

�I�����$�c��9
(φ,θ,ψ)> ( w CE#-��� � +Z +�6 ����:<; 6�B�R�S�" x�y @ �	�8���
� (R.A.)

�����
(Dec.)

���
R.A. = φ,Dec.= 90◦− θ (51)

 }�~ �ZH " =F> 6|)a@DC U ? � "�@BA C�#E
3
�7�K�a�����

ψ
���%����:<; 6 )$�%+�l�hZ�$,/. UF2�3�< " ��� S-?�F�"!G5H%I�J98}�~ "I#�K�L > (�R �2Ma�8i��F�
� � �'	��	�N����:<;�� +Y + (DETY)

����OQP5R�SUT1U
V Q�) �:9�� C 12 # E 3

�|���a��� >
M��ri��
(ROLL)

��°'@��
�
Roll = 90◦−ψ (52)

 }�~ �ZH "�#
������� U7w "�WYX �%����U�� S*R ���
�2�Z)$�%+ l�h � �
� �  ��[D;7> "�% (

´Bµ
� ��� �  �%[9; )

U�\9] R �$�7�a�*���79 O�& < "
�� �6B!�" 13 #�^�_a`�55b 9 B
Rdc w C�#
NEP

�I���F�������
(270◦.0,66.◦6)  �!�" =�>���e S�@FADC (2 f �2gVq�h ) # W <*¬ ^ Y �K� ���i Pr =$�%j�k:9�l:2,��� (�RFS�"$# G���m%� >��7�a���I����u�v��
n .  �!�"I#

2005-09-02 (272.80, 24.00, 159.07)

2006-02-10 (272.82, 23.98, 323.67)�
(51)

w�. �*=1H	�8���|�-�-�I� 6 � NEP o�p 9 B�R�S�" =�> 6�? � "�#rq �F� ZY
��2r3  �

Y +�6ts�u � {�� 9K� Z +�6ts�u NEP
9*y S$R�S�" =�>cU�v�w # w Q�R � Y + � s�u $����*U

! .E��E 3
�7�a����� 6 G��
$
��U-��\�< " =F> 6�? � "�#%x�{ ��m�U-´Fµ��,$
� 6 180◦

�'�
{ ��maU 0◦  �!�" =F>I9Ks*~�H
\�� 9 y 2 z ��´�µ��,$
��� s�u 159◦

�
2 y 10 z ��´Fµ��'$
�

69s�u 324◦  B!F" =F> 6�? � "I@BADCE#

11 {5|~}����N���
�~���.���#��� +Y �
�������'��� �#� �
� �?���
12 �.�����N�N���N�r�¡ .¢ � �¤£�¥�¦¨§¤©�ª�«­¬�©,®�¯ � ��°�± ��² �¡³.´�µ.¶�· ²�¸�¹ µ����!�»º.�N��¼�½ �¯�¾.�
¿,� ��² �
13 ¿,�À�!�ÂÁ�Ã.ÄrÅ
���¤Æ�Ç¡È�ÉNÊ.Ë.Ì � Ê.Ë.Í �ÏÎNÐ���Ñ�Ð �#Ò ²

12


